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1. Determine the volume of tetrahedron with vertices of P; (-1, 0, 1), Py(2, 1, 5), P3(2, -1, 4) and P4(-2, 1, 4)

B2 B)6 ©; D=2

2. Find the equation of plane that contains (-1, 1, 6), (2,0, 1) and (3, 0, 0) points : (A) x — 2y +z =3
B)x+2y+z=3 (C)x—2y+5z2=3 (D) x+2y+5z=3

3. y =e*cosx + e*sinx, find %‘? (A) e*cosx (B) Zex cosx (C) e*sinx (D) 2e*sinx

4. Find [xe*dx =7 (A) xe*+e*+c (B) xe*+c¢ (C) xeX —e*4+¢ (D) xe™* +¢

5. Find the solution of (x? — 1)% +2xy=0: (A) x*=1=cy B) yx?—-1)+x*y=c
C) yx*—y+x2=c D) yx*—-1)=c

6. Find the solution of (2x +3y —2)dx + 3x—4y+ 1)dy =0 : (A) x?+3xy—2x—2y*’+y=c
(B) x* +6xy—2x—2y*+y=c (C) x*+3xy—2y>=c (D) x2+6xy—2y>=c

7. Find the solution of y"' —4y' +4y =0 : (A) y=Ce* +C, (B) y=Ce ?*+(,
(C) y = C1e®* + C,xe?* (D) y = e?*(C; cosx + C, sinx)

8. Find the solution of y" — 2y’ =0, y(0) =0, y(%) =2-2¢ : (A)y=e**—1 (B) y=2—2e?

(C) y=2e** D)y=e -1
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9. Find the Laplace transform of f(t) = e : (A) — B — O = O —
10.Find the inverse Laplace transform of F(s) = _Szi:s :(A) —3cos2t+2sin2t (B) —2cos3t+ 3sin3t

(C) —2cos2t+3sin2t (D) —3cos3t+3sin3t
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11.Fine the Laplace transform of f(t) = [ xsinxdx :(A) T B) = © proen D) =

12.Find solution of y' — 5y = e%*, y(0) =2 :(A) 2+ xe™5* (B) 2+ xe% (C) 2e°* + xe™%*
(D) 2e°* + xe*
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13.A constant force of 10 N in the direction of @ = i + j moves a block on a frictionless surface from P1(4, 1, 0)

to P2(7, 4, 0). Suppose distance is measured in meters. Find the work done. : (A) 30N.m (B) 30v2N.m

(C) 60 N.m (D) 60v2N.m

14.Find the curl of the given vector field F(x,y,z) = 4xyi + (2x2 + 2yz)j + (322 + yHk -
(A)O (B) 4yi+2yj+6zk (C) 8y+4z (D) 2y +4z

15.Find an equation of the plane contains (1, 1, 1) and is perpendicular to the line through (2, 6, -3) and (1, 0, -2). :
Ay 6x—y+z=6 B)x—y+6z=6 C)x+6y—z=6 D)6Xx+y—2z=6

6 2 7
16.Evaluate the determinant of 4 = (—4 -3 2). :(A)90 (B)190 (C)-90 (D)-190
2 4 8 '
2 20 1 2 2 . 1 =2 2
17.Find the inverse of 4 = (—2 1 1). 1 (A) (—5 2 2) (B) E( 5 2 —2)
3 0 1 -3 —6 6 -3 6 6

1 -2 2 : ) 1 2 2
© 5 2 —2) (D) 13(“5 2 z)
\-3 6 6 -3 -6 6
18.Find the divergence of the given vector field F(x,y,z) = (x?y3 —zY)i + 4x5y%zj — y*2%k.
(A) 2xy° +8x5yz — 6y*z° (B) 2xy3i + 8x°yzj — 6y*z5k (C)0 (D) y3i+ 4x% — y*k
19.Evaluate line integral of | c xy?dx on the quarter-circle C define by x =4cost,y =4sint,0 <t <m/2.:

(A)len (B) 22 (C)-64 (D)-16n

20.Find the directional derivative of F(x,y,z) = xy? — 4x2y + z2 at (1, -1, 2) in the direction of 6i + 2j + 3k.

(A) 9i—6j +4k (B) 574 (C)54 (D) (¥ —8xy)i+ (2x — 4x2)j + 2zk



